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1. One of the interior angles of a polygon with n sides is 124° whereas the other (n-1) angles are each equal to 142°. Find the value of n.
________________________________________________________________________________________________________________________________________________________________________________________________________________________
2. Given that the interior angles of a quadrilateral are (2x + 15) °, (2x – 5) °, (3x + 75) ° and (3x – 25) °. Calculate
a. ꭓ
_______________________________________________________________________________________________________________________________________________________________________________________________________________
b. The smallest interior angle
_______________________________________________________________________________________________________________________________________________________________________________________________________________
c. The smallest exterior angle
_______________________________________________________________________________________________________________________________________________________________________________________________________________

3. One of the interior angles of a polygon is 172 ° and the rest are each equal to 169 °. Find the number of sides of the polygon.
________________________________________________________________________________________________________________________________________________________________________________________________________________________
4. ABCDE is a regular pentagon. AB and DC are produced to meet at T, calculate BTC.
________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
5. In a parallelogram PQRS, QPS = 108, RQS = 40, calculate PSQ and QSR.
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